Calculus I, Homework #3, Section 2.5
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[This simplifies to 8(2x — 5)" (8=* — ] -1(_:11:3 + 30z — 5).]

2. y =sin(zcosx) = y =cos(rcosz)-|z{—sinz)+ cosx- 1] = (cosz — wsinz) cos{wcosx)
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Ny = :-:in(tan \.-’:-:in.r) =
1y'= cos (tan -.f:-:in.r) : % (ta.n -.,#sinm) = cu:-;(t.an 1.,#:-1'1113:) sec? fsin e - % (sinz)}?

= cos (tan \f:-;in.r) sec” y/sinx - 2 (sinz)” Y2 . cosz = cos (’ra.n m) (‘-]EC \.fm) ( ! ){cu:-; x)
2vsinx
ro2 P 2 vy —1/2 , sinl[:-;in2 x)sinT cosx
3.y = Ci.k-]{:-‘:ll‘l T = Yy = 3 [GUS [3-:111 T}:] [— 51n{:-,|n :r::] (2sine cosx) = —

n:u:-:{:-;inz:r::]
55. r(z) = flglhiz))) = (=)= q{h. ) -g {.fa.l[:r} - h'{ix), s0
:r-m—f{g[h{ll})-g’[hm}-h = F(a(2)-g'(2) 4= F(3)-5-4=6-5-4=120

B0. {a) s = Acos(wt +8) = velocity = s’ = —wAsin(wl + §).
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2
69. % = E_Ej" (%) [Leibniz notation for the second derivative]
i dx \ dr
iy du .
=1 (E E) [Chain Rule]

iy d fdu du d [dy
== ||+ -7 |7 ] [ProductRule
du  dr (ﬂ{.’c) + dr dr (ﬂ[ﬂ.) [Product Rule]
dy d'u du d (dy\ du
e A

4 2 ¥V & da [efy fedae is & function of u)
dy d?u  d?y [ dud’
didx?  du? \ dx
Ch: Using function notation for y = f(w) and u = g{z), we have y = f(g(z)). so
y' = [iglxz)) - g'(x) [by the Chain Rule] =

@) = 1" (a(@) - g @) = Fg(@) - g"(2) + ¢ () - [(g(2)) - o' (&) = ['{9(=)) - g" (=) + " (9(=)) - o ()",
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